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k%A H 2023/9/7 2023/8/2
No. EE e B 8 Bk oK FK ok
1| 7oFErrvtokan me/L 0.02 LUT 0.001 %7 -~ 0.001 %7 —
2 | 95 RUZOLAY mg/L [ 0.002 BT () | 0.0002 %% -~ 0. 0002 3% —
3 | v T LRUZ DAY mg /L 0.02 LR 0.001 %7 B 0.001 %7 -~
5 [1.2-vvnnzsy me/L | 0004 LT 0. 0004 3% -~ 00004 3% -~
A= me /L 0.4 BIF 0.02 %7 B 0.02 %% —
o | JHLES - TFAAFIL) ne/L 0.08 LT 0.008 %7 -~ 0.008 %75 —
3| vroarer=run me/L | 0.01 BT (5) — 0.001 %% - 0.001 %%
14 [ krns—n me/L | 0.02 LT (B%) - 0.002 %7 - 0.002 %%
19 | maixm me /L 20 LR ] - 1.0 -
2010, 1-rFurRRTEY ne/L 0.3 LT 0. 0005 3% -~ 00005 3% -~
2| AFAtTFLI—FI me/L 0.02 LR 0.002 %7 B 0.002 %7 —
22 | BHmE B v Bn U Y LOERE) | ng/L 3 LUF 0.3 k% -~ 0.3 %% —
23 | s&aE TN — 3 LUF ES B ES -~
27 | Bt (527 74 - | matEs s 0.8 - 2.9 -
28 | tExEME CFU/mL | 2000 LU (87%) - 0 - 0
20[11-vronFLy ne/L 01 LT 0,001 %7 B 0.001 %7 —
1| e ooy ) BT mg/L |0.00005 LR (E5) | 0. 000005 % E 0. 000005 it —
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BKERH 2023/6/14
KA (°C) 20.0
W EIER (mg/L) -
No. 1HH BifT BiEE KEREHER
1| BER mg/L IS 0
2l T k7o FOvoI R mg/L 0.08 LI'F 0. 0008 =i
3| oA FI—F mg/L 0.06 LI'F 0. 0005 =3
4l BATF72 Y mg/L 0.003 LI'F 0. 00003 =
51! Jz=bOFF > (MEP) mg/L 0.01 LI'F 0. 0001 =K
6| 7/ 7HIL T (BPMC) mg/L 0.03 LI'F 0. 0003 =
7| 72z >F# > (MPP) mg/L 0.006 LI~ 0. 00006 =
8| 7434 K mg/L 0.1 'R 0. 001 K5
9| 7FmTxzo v mg/L 0.02 LI'F 0. 0002 =3
10] 7aR+VJ—L mg/L 0.03 LI'F 0. 0003 =i
M AZ7zFEy bk mg/L 0.02 LI'F 0. 0002 =3

7KE D K5y K&
KED ZFR 3P S|
IKIRFER TRk
Bk AR HER/K R
HKERH 2023/8/2
KA (°C) 15.0
R EIER (mg/L) -
No. IEH B BiRME KEWRERER
1| BEH mg/L 1T R 0
2| 2, 4-D(2, 4-PA) mg/L 0.02 LI'F 0. 0002 x5
3] EPN mg/L 0.004 LI'F 0. 00004 =34
bl 1VFHFH Y mg/L 0.005 LAF 0. 00005 =3
5(av7roF#+Z > (PT) mg/L 0.3 LI'F 0. 003 x5
6| 1 7OXRUKRX(IBP) mg/L 0.09 LI'F 0. 0009 =34
7| ALKRT SV mg/L | 0.0003 EAF 0. 000003 =34
8| vai=+ro7 x> (CNP) mg/L | 0.0001 EAR 0. 000001 =34
9 yoo4 o= L(TPN) mg/L 0.05 AR 0. 0005 =3
101 £ 4 LR X (DDVP) mg/L 0.008 LA'F 0. 00008 =i
M #ATF72 /Y mg/L 0.003 LI'F 0. 00003 =34
122( kS OEL mg/L 0.006 LL'F 0. 00006 3%
13| Zz=bOFF > (MEP) mg/L 0.01 LI'F 0. 0001 =34
14 7=/ 757 (BPNC) mg/L 0.03 LL'F 0. 0003 K
15 7oEH = R mg/L 0.06 LR 0. 0005 =3
16 RvA2J Y mg/L 0.2 LI'F 0. 002 x5
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